~ 20164F5831H
RABNR—ITA2T AR

EENOZERBEERIZCDOINT

T — 32 R EEARS
- 2548 - 20168 E3A1H~2016E3H31H




BEE— BEFHREBHR | IEALF: 25# RFFEE i1 [ Bfi: mSv/h )
O (E 0 o— -
5 z ‘v / ﬂ \ n
ififle7 N
S ‘ X
2 S
T[T
T

X

O
O
[]




RBEE— RTAHARER | HEA: 25t RFIFEE 16 ( BfI: mSv/h ]

TIPE L&}
S A [ it
iy % AZE | ! LED
| |
O
> % CUW-15
DO
RHRHx(A)ZE
J s S
hiEFE=S4—
P EEFE
RHRHx(B)=E
- TIPEREN 4 &
O/
480V MCC KA O 15
et ,—‘
LI_,_l_,_l_,_l_,_l_|_'_l_'_l_'J—‘




RBEE— RTAHARER | HEA: 25t RFIFEE 2B ( BfI: mSv/h ]

/
- - T -
<] looo,

’ ARl
1 F F F / A

PR P Fos() O [Tl u

CC cC i i

R

8 4 6




RBEE— RTAHARER | HEA: 25t [RFIFEE 3k ( BfI: mSv/h ]

_! T T T 1 — | |
L oro - o 411 Feokx
[p - @ | d—
A - d—
RCS(B)

| [2] FPC‘I'\/7°
[1] Q 1
] L ]7 1 A

C
A\ B
g Lo
_ﬂ [2] O] 5
(3] O
O | RHR-57
'1%'%“,:&}3_ - W['
DHCrn? N IUe
g — || — 7 %
el

L1 1 ||\

B A




RBEE— RTAHARER | HEA: 25t [RFIFRE 48 ( BfI: mSv/h ]

elele
>
| -
=<
o]

] [ﬁ
i
D PLR-MGtvk |L

s ﬁ R
o
sl | O O ==
] %D_ [] D
N O H C
@) . . ]
1] | O O
- e —r




RBEE— RTAREM

HE &

25t [RFIFEE Sk

( BA{iL: mSv/h ]

L] N L]
C ]
C ]
I f
=

—1K




BESF— RFAHAREFR | HEAH: 25t A—EUEE TR ( BAI: mSv/h ]

” = OOOO0000
?j Je__ = OEOIDODMMO'[E

— O [DDD
o [ e, o ijﬁj§§§%ﬁ} =
B[ O @ o =Rl il
=y w | | ® (©) 80[]% I IZIEO

I;' I: I'EJ g @(=C. B)M (A)

(TCTTTITID - (I
|Hl
([T - (T
——
@)

U @QE?W M
g 0 Tl | B IZ—| Uy Ul o g/\gii —_— (B)
T T armo =L © _ [H
LRTR e =~ i
? 3 |p |Wo® . . o ® Ny | _©
ﬂ Dh g | O~w (]

lizteE]




BESF— RFAHAREFR | HEAH: 25 S—EVEE 1R ( BAI: mSv/h ]

(A) (B) (C)

=
= — 2 j
. O b (B)
T & (A)—HE
X | = ijmr miniNmin ﬂm@- -
H L] |_| w NI ® | © — [
1 " [ﬂ I:I ] C
0000 | \[1

] |:||:| 1T o
s —H S
= U U |:| Eg 013) 0
I, B |:| O D iy

0 % C2c 1D ©

@I) C2E 1D H }éﬂ 013
O

4 |2 rm—> - (_ETDI]) " Hl'[

gt 0.050

| -(;I'D= .-._ 0.040 0.15) (0.10 8 (0.050) (0.050) —
D 0.35 - - —

|




BESF— RFAHAREFR | HEAH: 25 S—EVEE 2B ( BAI: mSv/h ]

14} R 0 1| L] LLI
O
o O
LT 1] LI == 1F = AF 1F
.0080

LI LI
XX

=
_ ‘—(0.012)
:i
0040
A (0010 :{ :
XXX X
. 0015 (m
1 . 0020 (00 y
o
v Sm =g 0@ g !
=
H ES-17
(o
= 2| |UE ES-16
2?/"?

|_||:|3ﬂﬂ]

!
[/




RBEE— RTAHARER | HEA:

25 EEVLERE 10

( BA{iL: mSv/h ]

| — |

[

J I L@ e s
LIH“ || o]p [ oo
— — N
= IN—
- O O OO O
L@% =
oflofo| () |

OO0




